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BASIC CONCEPT
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A and B can do a piece of work in 4 days and 6 days respectively. If they are

working together then in how many days total work be completed?

A और B किसी िार्य िो क्रमशः 4 और 6 किन में पूरा िर सिते हैं। वह िार्य में एि साथ आर्ें

तो िार्य कितने किनो मे पूरा होगा?

(A) 7

(B) 6

(C) 5

(D) 2.4
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A ,B and C can do a piece of work in 4 days , 8 days and 6 days respectively. If

they are working together then in how many days total work be completed?

A , B और C किसी िार्य िो क्रमशः 4, 8 और 6 किन में पूरा िर सिते हैं। वह िार्य में एि

साथ आर्ें तो िार्य कितने किनो मे पूरा होगा?

(A) 7

(B) 24/9

(C) 24/13

(D) 2.4



Amar can complete 
5
13

of a work in 10 days and Ram can complete 
1

5
of the work in 1 

days. In how many days together both can complete the work?

2. 130/31 3. 2 4. 1
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A, B and C can complete a certain piece of work in 10 days, 12 days and 15 days

respectively. If all of them is allowed to work together in how many days the work

would be completed?

A, B और C किसी िार्य िो 10 किन, 12 किन तथा 15 किन में परूा िरते हैं। र्कि सभी एि साथ िार्य

िरें तो िार्य पूरा होने में कितने किन लगेंगे?

(A) 60 days

(B) 13 days 

(C) 4 days 

(D) 4
2

13
days



A can do a piece of work in 6 days. B can do it in 9 days. With the assistance of C they 

completed the work in 3 days. In how many days can C alone do the work?

A, 6 किनों में एि िाम िर सिता है | B इसे 9 किनों में िर सिता है | C िी सहार्ता से उन्होंने 3 किनों 

में िाम पूरा िर सिता है | C अिेला कितने किनों में िाम िर सिता है? 

(a) 18 (b) 16 (c) 12 (d) 8



A can do a work in 72 days and B in 90 days. If they work on it together for 10 days,

then what fraction of work is left?

A 72 किनों में एि िाम िर सिता है और B उसे 90 किनों में िर सिता है। र्कि वे 10 किनों िे कलए

एिसाथ िाम िरते हैं, तो िाम िा कितना भाग शेष बच जारे्गा?

(a) 3/4

(b) 1/4

(c) 4/5

(d) 5/6



A can complete 50% of a job in 9 days and B can complete 25% of the job in 9 days if

they worked alone. If they worked together how much of the job (in %) can they

complete in 9 days?

A 9 किनों में 50% िाम पूरा िर सिता है और B 9 किनों में उस िाम िा 25% पूरा िर सिता है, र्कि वे

अिेले-अिेले िाम िरते हैं। र्कि वे एिसाथ िाम िरते है तो 9 किनों में कितना िाम (% में) पूरा हो

सिता है?

(a) 80%

(b) 90%

(c) 75%

(d) 100%



Working together A and B can do a job in 18 days, B and C in 10 days and A and C

work together in 9 days. In how many days can A ,B and C do the job working

together?

A और B कमलिर किसी िाम िो 18 किनों में, B और C 10 किनों में और A और C कमलिर किसी िाम

िो 9 किनों में िर सिते हैं। A, B और C एि साथ िाम िरते हुए कितने किनों में िाम िर सिते हैं?

(a) 9

(b) 3

(c)7.5

(d) 6



A can do 1/5 of a job in 10 days, B can do 1/3rd of the job in 25 job. In how many days

can they do half of the job working together?

A एि िाम िा 1/5 भाग 10 किनों में िर सिता है, B उस िाम िा 1/3 भाग 25 किनों में िर सिता है।

एि साथ िाम िरते हुए वे िोनों कितने किनों में उस िाम िा आधा कहस्सा पूरा िर सिते हैं?

(A) 30

(B) 45

(C) 15

(D) 20



A can do a work in 21 days and B in 42 days. If they work on it together for 7 days,

then what math fraction of work is left?

A किसी िाम िो 21 किन में िर सिता है और B उसे 42 किन में िर सिता है। र्कि वे 7 किन एि साथ

िाम िरते हैं तो िाम िा कितना कहस्सा बचेगा?

(A) 1/3

(B) 1/4

(C) 2/3

(D) 1/2



A can paint a house in 55 days and B can do it in 66 days. Along with C, they did the job

in 12 days only. Then, C alone can do the job in how many days?

A किसी घर िो 55 किनों में पेंट िर सिता है और B इसे 66 किनों में िर सिता है। C िे साथ कमलिर वे

इस िाम िो 12 किन में पूरा िर सिते हैं। तो C अिेला इस िाम िो कितने किनों में िरेगा?

(a)24

(b)44

(c) 33

(d) 20



To complete a piece of work A and B take 8 days, B and C 12 days. A, B and C take 6 

days. In how many days A and C together will complete the work? 

2. 3. 4. 



A can build up a structure in 5 days and B can break it is 8 days. In how 

many days will both complete the  structure?

2. 3. 4. 
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A, B and C can do a piece of work in 10, 12 and 15 days

respectively. All the three started work together but after two

days B left the work, now in how many days the remaining work

would be completed by A and C?

A, B और C एि िार्य िो क्रमशः 10, 12 और 15 किन में परूा िर सिते हैं। तीनों एि साथ िार्य

िरना प्रारम्भ िरते हैं। लेकिन 2 किन बाि B िार्य छोड़िर चला जाता ह।ै अब शषे िार्य A और C िे

द्वारा कितने किनों में पूरा होगा?

(A) 5 days

(B) 6 days

(C) 4 days

(D) 3 days



A, B and C can individually complete a task in 24 days, 20 days and 18 days, 

respectively. B and C start the task, and they work for 6 days and leave. The number 

of days required by A alone to finish the remaining task, is: 

A, B और C िार्य िो अिले क्रमशः 24 किन, 20 किन और 18 किन में पूरा िर सिते हैं। B और C िाम 

प्रारंभ िरते हैं, और वे 6 किन िाम िरिे उसे छोड़ िेते है। शेष िार्य िो समाप्त िरने िे कलए  A िो 

अिेले कितने किन लगेंगे?

(a) 15.6 days      (b) 12.5 days (c) 8.8 days (d)10 days



A, B and C can individually complete a task in 20 days, 16 days and 30 days, 

respectively. If A and B started working on the task, and they worked for 4 days and left, 

then the number of days required by C to finish the remaining task is:

A, B और C अिेले क्रमशः 20 किन, 16 किन और 30 किन, में िोई िार्य पूरा िर सिते हैंI A और B ने 

िाम िरना प्रारंभ किर्ा, और उन्होंने 4 किन िाम िरिे छोड़ किर्ा तो शेष िार्य िो पूरा िरने िे कलए C 

िो कितना समर् लगेगा ? 

(a) 16.5 days (b) 12.5 days (c) 13.5 days (d)10.2 days



A can do a piece of work in 18 days and B in 12 days. They began the work together, 

but B left the work 3 days before its completion. In how many days, in all was the 

work completed? 

A 18 किनों में एि िाम िर सिता है और B 12 किन में उन्होंने एि साथ िाम शुरू किर्ा, लेकिन B ने

िाम पूरा होने से 3 किन पहले िार्य  छोड़ किर्ा। कितने में पूरा  िाम पूरा हो गर्ा था?

A. 12 days    B. 10 days C. 9.6 days D. 9 days
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A and B can do a job in 15 days and 20 days respectively. They began the work

together but A leaves after 5 days and B finished the remaining job. In how

many days did B finish the rest job ?

A और B एि िाम िो क्रमश: 15 किन और 20 किन में िर सिते हैं। उन्होंने एि साथ िाम

िरना शुरू किर्ा लेकिन A 5 किनों िे बाि िाम छोड़ िेता है और B ने शेष िाम पूरा िर कलर्ा।

शेष िार्य िो B ने कितने किनों में पूरा किर्ा?

(A) 7 days

(B) 6
2

7
days 

(C) 6
3

7
days 

(D) 8
1

3
days
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A can do a piece of work in 36 days. B can complete the same work in 24 days whereas C can

complete this work in 48 days. A started the work and after 12 days leave the work, then B work for

next 8 days and left the job for C. In how many days C can finish the remaining work?

A किसी िार्य िो 36 किनों में पूरा िर सिता है, B उसी िार्य िो 24 किन में पूरा िर सिता है और C उसे 48 किन में पूरा

िरता है। A िार्य प्रारम्भ िरता है और 12 किन बाि िार्य छोड़ िेता है अगले 8 किनों िे कलए B ने िार्य किर्ा और C िे

कलए शेष िार्य छोड़ किर्ा। कितने किनों में C शेष िार्य पूरा िरेगा?

(A) 16

(B) 18

(C) 20

(D) 22



A can do 40% of a work in 12 days, whereas B can do 60% of the same work in 15 days. Both

work together for 10 days. C completes the remaining work alone in 4 days. A, B and C

together will complete 28% of the same work in?

A किसी िार्य िा 40%, 12 किनों में िर सिता है,जबकि B उसी िार्य िा 60% 15 किनों में िर सिता है। िोनों

10 किनों ति एि साथ िाम िरते हैं। C शेष िाम िो 4 किनों में पूरा िरता है। A, B और C एि साथ कमलिर

उसी िाम िा 28% कितने किनों में पूरा िर लेंगे?

(a) 2
𝟏

𝟐
days

(b) 3 days

(c) 1
𝟏

𝟐
days

(d) 2 days



A can do one-third of a work in 15 days, B can do 75% of the same work in 18

days and C can do the same work in 36 days. B and C work together for 8 days. In

how many days will A alone complete the remaining work?

A किसी िार्य िे एि-कतहाई िो 15 किनों में िर सिता है। B उसी िार्य िे 75% भाग िो 18 किनों

में और C उसिी िार्य िो 36 किनों में िर सिता है। B और C, 8 किनों ति साथ िार्य िरते है। A

शेष िार्य िो अिेले कितने किन में पूरा िरेगा?

(a) 24 days

(b) 18 days

(c) 20 days

(d) 16 days



24

A, B and C can do a piece of work in 10, 12 and 15 days respectively. All the

three started work together but after two days B left the work, now in how many

days the remaining work would be completed by A and C?

A, B और C एि िार्य िो क्रमशः 10, 12 और 15 किन में पूरा िर सिते हैं। तीनों एि साथ िार्य

िरना प्रारम्भ िरते हैं। लेकिन 2 किन बाि B िार्य छोड़िर चला जाता ह।ै अब शेष िार्य A और C िे

द्वारा कितने किनों में पूरा होगा?

(A) 5 days

(B) 6 days

(C) 4 days

(D) 3 days
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A and B can do a job in 15 days and 20 days respectively. They began the work

together but A leaves after some days and B finished the remaining job in 5 days.

After how many days did A leave the job ?

A और B एि िाम िो क्रमशः 15 किनों तथा 20 किनों में िर सिते हैं। उन्होंने एि साथ िाम िरना

शुरू किर्ा लेकिन A ने िुछ किनों बाि िाम छोड़ किर्ा। शेष िार्य िो B ने 5 किनों में पूरा किर्ा। A ने

कितने किनों बाि िार्य िरना छोड़ किर्ा था?

(A) 7 days

(B) 6
2

7
days 

(C) 6
3

7
days 

(D) 8
1

7
days
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If Rinky can complete a job in 10 days and along with Simran she can complete

the same job in 6 days then how much of the job remains to be completed if both

work for 4 days and Rinky alone works for 2 more days ?

र्कि ररिी एि िाम िो 10 किनों में तथा ससमरन िे साथ समलिर उसी िाम िो 6 किनों में पूरा िरती

हो। िाम िा कितना भाग शेष रह जाएगा, र्कि िोनों समलिर 4 किनों ति िाम िरे तथा ररिी अिेले

2 और किनों ति िाम िरें?

(A) 
3

14

(B) 
2

13

(C) 
4

10

(D) 
2

15
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Shweta and Shagun can complete a piece of work in 12 and 16 days respectively.

If they work for a day alternately. In how many days the work would be finished, if

Shweta begins the work.

शे्वता और शगुन किसी िार्य िो क्रमशः 12 और 16 किनों में िर सिती हैं। र्कि वे बारी-बारी से 1 किन

िार्य िरती हैं। कितने किनों में िार्य समाप्त हो जार्ेगा. र्कि श्वेता िार्य िरना प्रारम्भ िरती ह।ै

(A) 10 days

(B) 12
2

3
days 

(C) 13
1

3
days 

(D) 13
2

3
days
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A and B can do a piece of work in 6 days and 8 days respectively. If they are

working alternatively then in how many days total work be completed if B starts

the work first?

A और B किसी िार्य िो क्रमशः 6 और 8 किन में पूरा िर सिते हैं। वह िार्य में एिाांतर क्रम में आर्ें तो

िार्य कितने किनो मे पूरा होगा र्कि B ने िार्य प्रारांभ किर्ा हो?

(A) 7

(B) 6

(C) 5

(D) 7.5
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A, B and C can complete a certain piece of work in 10 days, 15 days and 20 days

respectively. If only one of them is allowed to work for a day in given order, in how

many days the work would be completed?

A, B और C किसी िार्य िो 10 किन. 15 किन तथा 20 किन में पूरा िरते हैं। र्कि इसी क्रम में एि किन

में िेवल एि ही िार्य िरे तो िार्य पूरा होने में कितने किन लगेंग?े

(A) 13 days

(B) 13
1

2
days 

(C) 12
8

13
days 

(D) 13
2

13
days



A and B can complete a job in 28 days working together. A alone can complete it in 40 

days. Both of them worked together for 16 days and then A left. The number of days B 

will take to complete the remaining job is

2. 3. 4. 



A can do a piece of work in 12 days and B can do it in 15 days. They work together for 3 

days and then B leaves and A alone continues. 3 days after that C joins and the work is 

completed in next 3 days. In how many days can C do it, if he works alone ?

2. 3. 4. 



A and B each working alone can do a work in 16 days and 24 days respectively. They 

started the work together, but B left after some time and A finished the remaining 

work in 6 days. After how many days from the start did B leave?

2. 3. 4. 




